

info@nafeco.com

To: MIS015

MISSION FIRE DEPARTMENT 415 WEST TOM LANDRY STREET MISSION, TX 78572

MISSION, TX 78572 United States of America **QUOTE**

Quote Number: 1329720

Date: 9/30/25

Quote Expiration: EXPIRES 30 DAYS

F.O.B. Point: ORIGIN

Salesperson: Gabe LaBonte (South TX)

Quote Prepared By: Josh Underwood

Qty.	U/M	Item No.	Description	Each	Amount
			Due to tariffs by our manufacturer there may be		
			additional charges. The charge will be added to		
			shipping and handling with no additional mark-up.		
20	EA	112509-729-XX	First Tactical Performance Polo, SS, Midnight Navy	66.00	1,320.00
			Sizes Available: S - 4XL (Reg)		
			LC: Emb Dept. Logo		
			RC: Emb Name over Rank		
10	EA	112509-729-XX	First Tactical Performance Polo, SS, Midnight Navy	70.50	705.00
			Sizes Available: L- 4XL (Tall)		
			LC: Emb Dept. Logo		
			RC: Emb Name over Rank		
20	EA	115008-019-XX	First Tactical Tactix Shorts Training, Black	33.25	665.00
			Sizes Available: S - 3XL		
			LL: HT Mission FD MC Logo		
20	EA	143009-019-XX	First Tactical HD Webbing Belt, 1.5". Black	54.00	1,080.00
			Sizes Available: S - 4XL		
30	EA	577MNV-XX	Liberty Job Shirt. Navy Cotton/Poly	64.25	1,927.50
			Available Sizes: XS - 6XL		
30	EA	ALTERATION-XX	Alteration Work on Garment	16.75	502.50
			LC: Emb Dept. Logo		
			RC: Namestrip		
20	EA	6511-19-4013-XX	Flexfit Trucker Mesh Cap Dark Navy	11.50	230.00

Thank you for your business!

NOTE: All accounts are subject to sales tax charges unless a valid state tax exempt certificate is on file with NAFECO, or provided at the time of the order.

If you have any questions concerning this quote, please call our number listed above.

Visit Us On The Internet At: www.nafeco.com



info@nafeco.com

To: MIS015

MISSION FIRE DEPARTMENT 415 WEST TOM LANDRY STREET

MISSION, TX 78572 United States of America **QUOTE**

Quote Number: 1329720

Date: 9/30/25

Quote Expiration: EXPIRES 30 DAYS

F.O.B. Point: ORIGIN

Salesperson: Gabe LaBonte (South TX)

Quote Prepared By: Josh Underwood

Qty.	U/M	Item No.	Description	Each	Amount
			One Size		
20	EA	ALTERATION-XX	Alteration Work on Cap	6.00	120.00
			Emb Mission FD Logo on Front of Cap		
30	EA	71309-720-XX	5.11 T-Shirt, SS. 100% Cotton 5.9 oz, Navy	21.25	637.50
			Sizes Available: XS - 3XL		
30	EA	ALTERATION-XX	Alteration Work on Garment	20.50	615.00
			LC: HT Mission FD MC Logo		
			Back: Heat Transfer "MISSION" over "FIRE" in Silver		
25	EA	72318-720-XX	5.11 T-Shirt, LS, 100% Cotton 5.9 oz, Navy	25.50	637.5
			Sizes Available: XS - 3XL		
25	EA	ALTERATION-XX	Alteration Work on Garment	20.50	512.5
			LC: HT Mission FD MC Logo		
			Back: Heat Transfer "MISSION" over "FIRE" in Silver		
30	EA	72534-720-XX	5.11 Job Shirt, 2.0 1/4 Zip Fire Navy	63.75	1,912.5
			Sizes Available: XS- 3XL (Reg)		
30	EA	ALTERATION-XX	Alteration Work on Garment	13.00	390.0
			LC: Emb Dept. Logo		
			RC: Emb Name over Rank		
10	EA	72534-720-XX	5.11 Job Shirt, 2.0 1/4 Zip Fire Navy	63.75	637.5
			Sizes Available: M- 5XL (Tall)		
10	EA	ALTERATION-XX	Alteration Work on Garment	13.00	130.0
			LC: Emb Dept. Logo		

Thank you for your business!

NOTE: All accounts are subject to sales tax charges unless a valid state tax exempt certificate is on file with NAFECO, or provided at the time of the order.

If you have any questions concerning this quote, please call our number listed above.



info@nafeco.com

To: MIS015

MISSION FIRE DEPARTMENT **415 WEST TOM LANDRY STREET** MISSION, TX 78572 United States of America

Quote Number: 1329720

Date: 9/30/25

Quote Expiration: EXPIRES 30 DAYS

QUOTE

F.O.B. Point: ORIGIN

Salesperson: Gabe LaBonte (South TX)

Quote Prepared By: Josh Underwood

Qty.	U/M	Item No.	Description	Each	Amount
			RC: Emb Name over Rank		
20	EA	73334ABR-724-XX	5.11 Apex 11" Shorts Dark Navy	76.50	1,530.00
			Sizes Available: 28 - 44		
20	EA	89098-724-XX	5.11 Tactical Fast-Tac Uniform Hat, Dk Navy, One Size	15.30	306.00
			One Size		
20	EA	ALTERATION-XX	Alteration Work on Cap	6.00	120.00
			Emb Mission FD Logo on Front of Cap		
20	EA	89422ABR-724-XX	5.11 Tactical Boonie Hat Dark Navy	34.00	680.00
			Sizes Available: S/M and L/XL		
20	EA	ALTERATION-XX	Alteration Work on Hat	6.00	120.00
			Emb Mission FD Logo on Front of Hat		
20	EA	CS1000-86-XX	FBC Core Stat Mens SS Class A Shirt; Navy	90.27	1,805.40
			Sizes Available: XS - 5XL		
20	EA	ALTERATION-XX	Alteration Work on Garment	33.75	675.00
			LC: Rank Namestrip		
			RC: Namestrip		
			LS: Dept. Patch		
			RS: EMT Patch		
			Collar: Rank Disc Patch		
20	EA	CS1020-86-XX	FBC Core Stat LS Shirt Class A. Navy	101.83	2,036.60
			Sizes Available:14.5, 15, 15.5, 16, 16.5, 17, 17.5, 18, 18.		
			19/19.5, 20/20.5, 21/21.5, and 22/22.5		

Thank you for your business!

NOTE: All accounts are subject to sales tax charges unless a valid state tax exempt certificate is on file with NAFECO, or provided at the time of the order.

If you have any questions concerning this quote, please call our number listed above.

Visit Us On The Internet At: www.nafeco.com



info@nafeco.com

To: MIS015

MISSION FIRE DEPARTMENT **415 WEST TOM LANDRY STREET** MISSION, TX 78572

United States of America

QUOTE

Quote Number: 1329720

Date: 9/30/25

Quote Expiration: EXPIRES 30 DAYS

F.O.B. Point: ORIGIN

Salesperson: Gabe LaBonte (South TX)

Quote Prepared By: Josh Underwood

Qty.	U/M	Item No.	Description	Each	Amount
			Sleeve Sizes: 32/33, 34/35, and 36/37		
20	EA	ALTERATION-XX	Alteration Work on Garment	33.75	675.00
			LC: Rank Namestrip		
			RC: Namestrip		
			LS: Dept. Patch		
			RS: EMT Patch		
			Collar: Rank Disc Patch		
20	EA	CS17400-XX	FBC Core Stat Navy Pant, 6 Pocket, Poly/Spandex	108.12	2,162.40
			Sizes Available: 30, 32, 34, 3 6, 38, 40, 42, and 44		
20	EA	ALTERATION-XX	Alteration Work on Garment	8.00	160.00
			Hem Pant To Specified Length		
20	EA	NAMESTRIP-XX	Namestrip to be made	6.50	130.00
15	EA	PE1203	Patch, Collar Disc, Single Bugle, Silver/Red, Pair	2.35	35.25
			MATCH #1002 additional mark-up.		
15	EA	PE1228	Patch. Collar Disc 2 Parallel Bugle; Silver/Red; Pair	2.35	35.25
15	EA	PE1302	Patch. Collar Disc 4 Crossed Bugles METALLIC GOLD/RED	2.35	35.25
			MATCH #1001 additional mark-up.		
14	EA	PE1327	Patch, Collar Disc 5 Crossed Bugles METALLIC GOLD/RED	2.35	32.90
			MATCH #1001 additional mark-up.		
20	EA	90010-61	Samuel Broome Clip-on Tie, Polyester Navy 3" x 18"	6.25	125.00
20	EA	90043-61	Samuel Broome Clip-on Tie, Polyester Navy 3"x20"	6.50	130.00
20	EA	90063-61	Samuel Broome Clip-on Tie, Polyester Navy 3.5" x 22"	6.75	135.00

Thank you for your business!

NOTE: All accounts are subject to sales tax charges unless a valid state tax exempt certificate is on file with NAFECO, or provided at the time of the order.

If you have any questions concerning this quote, please call our number listed above.

Visit Us On The Internet At: www.nafeco.com



info@nafeco.com

To: MIS015

MISSION FIRE DEPARTMENT
415 WEST TOM LANDRY STREET
MISSION TY 78572

MISSION, TX 78572 United States of America **QUOTE**

Quote Number: 1329720

Date: 9/30/25

Quote Expiration: EXPIRES 30 DAYS

F.O.B. Point: ORIGIN

Salesperson: Gabe LaBonte (South TX)

Quote Prepared By: Josh Underwood

Qty.	U/M	Item No.	Description	Each	Amount
30	EA	48153-019-XX	5.11 Jacket, Valiant Duty, Black	297.50	8,925.00
			Sizes Available: XS- 4XL (Reg)		
30	EA	ALTERATION-XX	Alteration Work on Garment	45.50	1,365.00
			Apply HT directly on jacket. not on the flaps.		
			Outer Shell: Left Chest Heat Transfer Dept. MC Logo		
			Outer Shell: Back Heat Transfer (2 Lines)		
			Line 1: MISSION		
			Line 2: FIRE		
			Interior Fleece Soft Shell:		
			Left Sleeve- Dept. Patch		
			Right Sleeve- Texas EMS Patch		
			Left Chest- Embr Dept. Logo		
			Right Chest- Namestrip F. Last, over Rank; Silver		
10	EA	48153TABR-019_132972	5.11 Jacket, Valiant Duty, Black, Size: TALL	297.50	2,975.00
			Sizes Available: L- 4XL (TALL)		
10	EA	ALTERATION-XX	Alteration Work on Garment	45.50	455.00
			Apply HT directly on jacket. not on the flaps.		
			Outer Shell: Left Chest Heat Transfer Dept. MC Logo		
			Outer Shell: Back Heat Transfer (2 Lines)		
			Line 1: MISSION		
			Line 2: FIRE		
			Interior Fleece Soft Shell:		

Thank you for your business!

NOTE: All accounts are subject to sales tax charges unless a valid state tax exempt certificate is on file with NAFECO, or provided at the time of the order.

If you have any questions concerning this quote, please call our number listed above.



info@nafeco.com

To: MIS015

MISSION FIRE DEPARTMENT 415 WEST TOM LANDRY STREET MISSION, TX 78572 United States of America **QUOTE**

Quote Number: 1329720

Date: 9/30/25

Quote Expiration: EXPIRES 30 DAYS

F.O.B. Point: ORIGIN

Salesperson: Gabe LaBonte (South TX)

Quote Prepared By: Josh Underwood

Qty.	U/M	Item No.	Description	Each	Amount
			Left Sleeve- Dept. Patch		
			Right Sleeve- Texas EMS Patch		
			Left Chest- Embr Dept. Logo		
			Right Chest- Namestrip F. Last, over Rank; Silver		
20	EA	12420-XX	5.11 Company 3.0 Boot	123.25	2,465.00
			Sizes Available: 4, 5, 6, 7, 7.5, 8, 8.5, 9, 9.5, 10, 10.5,		
			11, 11.5, 12, 13, and 14 (Reg)		
			Wide Sizes Available: 7, 7.5, 8, 8.5, 9, 9.5, 10, 10.5, 11.		
			11.5, 12, and 13 (Wide)		
20	EA	1720037-007_1329720	5.11 A/T Mid 2.0 Work Boot, Carbon Toe, Black	123.25	2,465.00
			Sizes Available: 4, 5, 6, 7, 7.5, 8, 8.5, 9, 9.5, 10, 10.5,		
			11, 11.5, 12, 13, and 14 (Reg)		
			Wide Sizes Available: 7, 7.5, 8, 8.5, 9, 9.5, 10, 10.5, 11,		
			11.5, 12, 13, and 14 (Wide)		
18	EA	12391-XX	5.11 ATAC 2.0 8" Side Zip Boot	114.75	2,065.50
			Sizes Available: 4, 5, 6, 6.5, 7, 7.5, 8, 8.5, 9, 9.5, 10.		
			10.5, 11, 11.5, 12, 13, 14, & 15		
			Wide Sizes Available: 7, 7.5, 8, 8.5, 9, 9.5, 10, 10.5, 11,		
			11.5, 12, and 13 (Wide)		
20	EA	12403-019-XX	5.11 Boot, ATAC 2.0, Ladies 8" Black	114.75	2,295.00
			Sizes Available: 5, 6, 6.5, 7, 7.5, 8, 8.5, 9, 9.5, and 10		
20	EA	834-6218-XX	Thorogood Boot "Deuce" Side Zip	118.96	2,379.20

Thank you for your business!

NOTE: All accounts are subject to sales tax charges unless a valid state tax exempt certificate is on file with NAFECO, or provided at the time of the order.

If you have any questions concerning this quote, please call our number listed above.

Visit Us On The Internet At: www.nafeco.com



info@nafeco.com

To: MIS015

MISSION FIRE DEPARTMENT **415 WEST TOM LANDRY STREET** MISSION, TX 78572 United States of America

QUOTE

Quote Number: 1329720

Date: 9/30/25

Quote Expiration: EXPIRES 30 DAYS

F.O.B. Point: ORIGIN

Salesperson: Gabe LaBonte (South TX)

Quote Prepared By: Josh Underwood

Qty.	U/M	Item No.	Description	Each	Amount
			Sizes Available (Reg. & Wide): 4, 4.5, 5, 5.5, 6, 6.5, 7, 7.		
			8, 8.5, 9, 9.5, 10, 10.5, 11, 11.5, 12, 13, 14, and 15		
			Extra Wide Sizes Available: 8, 8.5, 9, 9.5, 10, 10.5, 11,		
			11.5, 12, and 13		
20	EA	122509-729-XX	First Tactical Ladies Polo, SS Performance, Midnight Navy	66.00	1,320.00
			Sizes Available: XS - 3XL		
			LC: Emb Dept. Logo		
			RC: Emb Name over Rank		
20	EA	125008-019-XX	First Tactical Ladies Tactix Training Shorts, Black	33.25	665.00
			Sizes Available: XS - 2XL		
			LL: HT Mission FD MC Logo		
20	EA	CS1000W-86-XX	FBC Core Stat Womens SS Class A Shirt; Navy	90.27	1,805.40
			Sizes Available: 26 - 54		
20	EA	ALTERATION-XX	Alteration Work on Garment	33.75	675.00
			LC: Rank Namestrip		
			RC: Namestrip		
			LS: Dept. Patch		
			RS: EMT Patch		
			Collar: Rank Disc Patch		
20	EA	CS1020W-86-XX	Core Stat Women's LS Class A Shirt; LAPD Navy	101 483	2,036.60
			Sizes Available: 26- 54 (Reg.)		
			Sizes Available: 26- 54 (Long)		

Thank you for your business!

NOTE: All accounts are subject to sales tax charges unless a valid state tax exempt certificate is on file with NAFECO, or provided at the time of the order.

If you have any questions concerning this quote, please call our number listed above.

Visit Us On The Internet At: www.nafeco.com



North America Fire Equip. Inc. D.B.A - NAFECO PO Box 2928 Decatur, AL 35602

Phone: 800-628-6233

info@nafeco.com

To: MIS015

MISSION FIRE DEPARTMENT **415 WEST TOM LANDRY STREET**

MISSION, TX 78572 United States of America QUOTE

Quote Number: 1329720

Date: 9/30/25

Quote Expiration: EXPIRES 30 DAYS

F.O.B. Point: ORIGIN

Salesperson: Gabe LaBonte (South TX)

Quote Prepared By: Josh Underwood

Qty.	U/M	Item No.	Description	Each	Amount
20	EA	ALTERATION-XX	Alteration Work on Garment	33.75	675.00
			LC: Rank Namestrip		
			RC: Namestrip		
			LS: Dept. Patch		
			RS: EMT Patch		
			Collar: Rank Disc Patch		
20	EA	CS17400W-86-XX	FBC Core State Ladies 6 Pocket Pant; Navy	108.12	2,162.40
			Sizes Available: 00 - 28		
20	EA	ALTERATION-XX	Alteration Work on Garment	8.00	160.00
			Hem Pant To Specified Length		
20	EA	63071-724-XX	5.11 Shorts, Ladies Taclite TDU Dark Navy	51.00	1,020.00
			Sizes Available: 2 - 20		
20	EA	1611-XX-G	Dutyman Belt, Black, Plain 1.75", Gold Buckle	28.50	570.00
			Sizes Available: 28 - 52		
20	EA	1611-XX-S	Dutyman Belt, Black, Plain 1.75", Silver Buckle	28.50	570.00
			Sizes Available: 28 - 52		
			Shipping Not Included		
			BuyBoard Contract #773-25		
			Sub-Total:		\$60,000.65
			Quote Total:		\$60,000.65

Thank you for your business!

NOTE: All accounts are subject to sales tax charges unless a valid state tax exempt certificate is on file with NAFECO, or provided at the time of the order.

If you have any questions concerning this quote, please call our number listed above.

Visit Us On The Internet At: www.nafeco.com